TO BE DETERMINED BY CITY ENGINEER

LOCATION OF AIR VENT STAND PIPE 12" MIN.
ON A CASE BY CASE BASIS !

8"

STANDARD 30" MANHOLE COVER
, SEE NOTES BELOW
18" MIN. A
~UNLESS APPROVED 3
BY CITY ENGINNER CONCRETE COLLAR
S

4" MIN.

Lo

PSX DIRECT BOOT OR
,,,,,,,,, APPROVED EQUIVALENT

5’ DIAMETER PRECAST
MANHOLE BASE WITH LID

14 =
3 IN.

&P 2" FLOOR DRAIN WITH

/ AIR_VENT STAND PIPE COVER 12" PERFORATED PIPE . "
31+ V.L.T. PRODUCTS STRONG BOX INTO GRAVEL BASE 12" MIN. OF %

MODEL SBBC—22CR OR WASHED DRAIN ROCK
CONCRETE BASE APPROVED EQUIVALENT.
MIN. ON ALL SIDES

1
o | | 5 %
1
SLOPE 1% MIN.

12 E—/

VALVE & FITTING SCHEDULE
DESCRIPTION

- |2" ROMACS 202NS SADDLE

2" BALL VALVE CURB STOP FORD B88—777—NL

2" THREADED AIR VAC. RELIEF VALVE
APCO MODEL 145 C OR APPROVED EQUAL

2" BRASS/STAINLESS STEEL STREET 90°

2" X 6" BRASS/STAINLESS STEEL NIPPLE

. |2” X 3/4" BRASS/STAINLESS STEEL TEE THREADED
. |3/4" BRASS/STAINLESS STEEL NIPPLE

. |3/4" THREADED BRASS/STAINLESS STEEL BALL VALVE
. |3/4” BRASS/STANLESS STEEL PLUG
10.]2” PIPE BRASS/STAINLESS STEEL _ FLOOR DRAIN
3/4" SECTION A=A

N—ROMACS 202NS
SERVICE SADDLE

ofe|~|o|ofs] wln]=5

11.|2" PIPE_PVC_SCH. 40 12" MIN.
12.]2" 90° PVC_SCH. 40 WASHED DRAIN ROCK
13.]2” COUPLING PVC / MALE THREADED

14.|[MOLE VENT ALUMNI BODY / STAINLESS SCREEN #14
MESH A—1 MCDONALD #M6F OR EQUAL

NOTES:

MANHOLE COVER TO BE A SOLID LID CONTAINING ONE PICK HOLE. SEE SPECIFICATION DIVISION 5 FOR COVER LABEL. D&L 1180 OR APPROVED EQUIVALENT MANHOLE FRAME
AND LID THAT READS "WATER”

LID SHALL BE OF ECCENTRIC DESIGN AND MEET H20 LIVE LOADING. NO FLAT RING AND COVERS WILL BE ALLOWED UNLESS APPROVED BY THE CITY ENGINEER OR HIS
REPRESENTATIVE.

UNDER WET CONDITIONS INSTALL A DRAIN ABOVE THE WATER TABLE AND BELOW THE VALE.

IF POSSIBLE MOVE VALVE OUT OF LINE OF ACCESS.

CONCRETE FOR COLLARS SHALL UTILIZE FIBER MESH.

oru N

r

LSpringville

DRAWING 7 )
SPRINGVILLE CITY
PS-17

R ey CULINARY WATER AIR-VAC G L

ENGINEERING OFFICE

(801)491-2780 APRIL 2018 J



AutoCAD SHX Text
NOTES: 1. MANHOLE COVER TO BE A SOLID LID CONTAINING ONE PICK HOLE. SEE SPECIFICATION DIVISION 5 FOR COVER LABEL. D&L 1180 OR APPROVED EQUIVALENT MANHOLE FRAME MANHOLE COVER TO BE A SOLID LID CONTAINING ONE PICK HOLE. SEE SPECIFICATION DIVISION 5 FOR COVER LABEL. D&L 1180 OR APPROVED EQUIVALENT MANHOLE FRAME  D&L 1180 OR APPROVED EQUIVALENT MANHOLE FRAME D&L 1180 OR APPROVED EQUIVALENT MANHOLE FRAME AND LID THAT READS "WATER"  2. LID SHALL BE OF ECCENTRIC DESIGN AND MEET H20 LIVE LOADING. NO FLAT RING AND COVERS WILL BE ALLOWED UNLESS APPROVED BY THE CITY ENGINEER OR HIS LID SHALL BE OF ECCENTRIC DESIGN AND MEET H20 LIVE LOADING. NO FLAT RING AND COVERS WILL BE ALLOWED UNLESS APPROVED BY THE CITY ENGINEER OR HIS REPRESENTATIVE. 3. UNDER WET CONDITIONS INSTALL A DRAIN ABOVE THE WATER TABLE AND BELOW THE VALVE. UNDER WET CONDITIONS INSTALL A DRAIN ABOVE THE WATER TABLE AND BELOW THE VALVE. 4. IF POSSIBLE MOVE VALVE OUT OF LINE OF ACCESS.  IF POSSIBLE MOVE VALVE OUT OF LINE OF ACCESS.  5. CONCRETE FOR COLLARS SHALL UTILIZE FIBER MESH. CONCRETE FOR COLLARS SHALL UTILIZE FIBER MESH. 

AutoCAD SHX Text
SECTION A-A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
2" PIPE PVC SCH. 40

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
VALVE & FITTING SCHEDULE

AutoCAD SHX Text
1.

AutoCAD SHX Text
NO.

AutoCAD SHX Text
2" BALL VALVE CURB STOP FORD B88-777-NL 

AutoCAD SHX Text
2" THREADED AIR VAC. RELIEF VALVE

AutoCAD SHX Text
APCO MODEL 145 C OR APPROVED EQUAL

AutoCAD SHX Text
2" PIPE BRASS/STAINLESS STEEL

AutoCAD SHX Text
2" X 6" BRASS/STAINLESS STEEL NIPPLE

AutoCAD SHX Text
2" BRASS/STAINLESS STEEL STREET 90%%D 

AutoCAD SHX Text
2" ROMACS 202NS SADDLE

AutoCAD SHX Text
3/4" BRASS/STAINLESS STEEL PLUG

AutoCAD SHX Text
3/4" THREADED BRASS/STAINLESS STEEL BALL VALVE

AutoCAD SHX Text
3/4" BRASS/STAINLESS STEEL NIPPLE

AutoCAD SHX Text
2" X 3/4" BRASS/STAINLESS STEEL TEE THREADED

AutoCAD SHX Text
MOLE VENT ALUMNI BODY / STAINLESS SCREEN #14

AutoCAD SHX Text
2" 90%%D PVC SCH. 40 

AutoCAD SHX Text
2" COUPLING PVC / MALE THREADED

AutoCAD SHX Text
MESH A-1 MCDONALD #M6F OR EQUAL

AutoCAD SHX Text
SLOPE 1% MIN.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
10.

AutoCAD SHX Text
11.

AutoCAD SHX Text
12.

AutoCAD SHX Text
13.

AutoCAD SHX Text
14.

AutoCAD SHX Text
ROMACS 202NS SERVICE SADDLE

AutoCAD SHX Text
STANDARD 30" MANHOLE COVER  SEE NOTES BELOW

AutoCAD SHX Text
CONCRETE COLLAR

AutoCAD SHX Text
5' DIAMETER PRECAST  MANHOLE BASE WITH LID

AutoCAD SHX Text
12" MIN. 3/4" WASHED DRAIN ROCK

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
12

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
LOCATION OF AIR VENT STAND PIPE  TO BE DETERMINED BY CITY ENGINEER  ON A CASE BY CASE BASIS

AutoCAD SHX Text
CONCRETE BASE 8" MIN. ON ALL SIDES

AutoCAD SHX Text
FLOOR DRAIN

AutoCAD SHX Text
AIR VENT STAND PIPE COVER V.I.T. PRODUCTS STRONG BOX  MODEL SBBC-22CR OR  APPROVED EQUIVALENT.

AutoCAD SHX Text
2" FLOOR DRAIN WITH 12" PERFORATED PIPE INTO GRAVEL BASE 

AutoCAD SHX Text
12" MIN. OF  " 34" WASHED DRAIN ROCK

AutoCAD SHX Text
PSX DIRECT BOOT OR APPROVED EQUIVALENT

AutoCAD SHX Text
DRAWING # 

AutoCAD SHX Text
ADOPTED DATE 

AutoCAD SHX Text
SPRINGVILLE CITY 110 SOUTH MAIN STEET SPRINGVILLE UTAH 84663 ENGINEERING OFFICE (801)491-2780


	Sheets and Views
	Portrait


